
 Pos. Descrizione Description Cod.
 7 Calotta per eccentrico G ¾” Nut for eccentric G ¾” C 7060
	 8	 Guarnizione	fibra	24x18x2	 Fibre	washer	24x18x2	 C	7573.1
	 10	 Gambo	eccentrico	 Eccentric	shank	 C	7204A
 134	 O-ring	Ø12.42x1.78	 O-ring	Ø12.42x1.78	 C	7586.48
	 169	 O-ring	Ø17.17x1.78	 O-ring	Ø17.17x1.78	 C	7586.64
	 182	 Sede	mm.11.5	 Seat	mm.	11.5	 C	7052
	 183	 O-ring		Ø16.1x1.6	 O-ring	Ø16.1x1.6	 C	7586.61
 442	 Grano	M5x5	 Dowel	M5x5	 C	7552 
 456	 Cappuccio	“Pumori”		per	eccentrico	 Cap	“Pumori”	for	eccentric	 C	7202/1
	 560	 Ghiera	ferma	cartuccia	monocomando	Olympus	 Stop	cartridge	ring	nut	Olympus	 C	3702/3
	 561	 Cartuccia	monocomando	Olympus	 Olympus	series	cartridge	 3009	D	35
	 564	 Finale	braccio	laterale	monocomando	Olympus	 Final	body	lateral	connection	Olympus	 C	3701/4
	 569	 Corpo	monocomando	doccia	esterno	Olympus	 Single	lever	mixer	central	body	Olympus	 C	3705/1	
		651	 Grano	M5x4	 Dowel	M5x4	 C	7635/2
	 658	 Braccio	laterale	per	doccia	esterno	monocomando	Olympus	 Lateral	connection	for	single	lever	mixer	Olympus	 C	3725/1
	 721	 Coprighiera	monocomando	Vincent	 Vincent	cover	ring	nut	 C	3002/3
	 804	 Leva	monocomando	Torre	 Torre	lever	handle	 C	7657
 

Art. 3925




